Xz | 199765 E5i0| Lol 29 =8

1. BE9| e 2 0|

+% +8) 2

TE 3 zu8 3o z28 Fo su8
199044 1,960 - 2,700 - 4,720} -
19914 1.010 D485 1710 380 2.720 424
19924 1.020 1.0 1.640 FaC N | 2,660 MH22
19934 1021 01 1.620 FaN s 2,641 PaXig
199414 839 Fayiri 1.269 A21.7 2108 A202
19954 736 123 1,316 37 2052 AN2T
19964 726 A3 1.250 FAREY 1.976 37
199744 904 24.5 1,272 1.8 2.177 10.1

2. s3] 100 P MTHS
(che] Mg 9o

+9 291 getel ¢& Sote| £ =&Y Al HFg
199614 199744 19961 199714 199614 19974 199614 19974
| =3 68,638 120610 497,029 534,680 565,667 656,290 286 30.1
2 o= 201,412 310,484 226,994 178,804 518,406 489288 26.2 225
3 £z 16,439 180,700 45,523 32,053 61,962 212,753 59 9.8
4 el 72,804 69,495 42,947 43502 115,751 112,997 38 5.2
5 ] 3,600 0 3,000 88.000 6,600 88.000 16 4.0
6 =4 41,074 43,337 33,829 42 839 74,903 86,176 33 4.0
7 2 Alo} 28,478 16,970 35,840 66,860 64,818 $3,830 3.1 3.9
8 =ZgkA 30,840 26,275 5,636 15,546 36,476 41,821 19 2.0
9 oz 161 726 16,895 40,617 37,256 41,343 Ry 19
10 | h2atel| Al 33,095 36,120 t,452 Y27 34,547 37.047 1.8 1.7
lock M= gHAH|| 587,241 805,717 929,145 1,043,828 1,516,386 1,849,545 80.1 85.1
M 2 726,675 904,601 1,249,617 | 1272253 | 1976292 | 2176854 100.0 100.0
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3. S#to) 100 & X £ A=

(Che: M ey, %)

100 55 strj=

T g32l 45 HRE 2 =510 ¢ u%E
| olE 310.484 343 =2 534,680 420
2 ) 180,700 20.0 o= 175.804 14.1
3 == 121,610 134 aff 85,000 6.9
4 olx 69,495 77 2| Aot 66,860 53
5 =g 43337 4.8 olE 43.502 34
6 qhaatmA| 36,120 40 =l 42.839 14
7 A 26,275 2.9 = 40,617 3.2
8 2{A|0} 16970 19 = 32,053 23
9 Ef=t 10,356 1.1 ATIEE 31666 25
10 s ] 9.698 1.1 Ef= 24,037 1.9

0L == 3 A 825,045 91.2 L] =2 A 1.083,058 85.1
B23to| 4& & 904,60 1 100.0 9| 4=0) Zoi 1,272,253 100.0
4. B8l9| ERY & MY
HH e %)
TE(HS TIE) 1o o B8
=Y T 4H| 2 4|

L AEs 67.821 9.3 58.962 6.5 21301

2 A2 HE 51.892 7.2 86,911 9.6 67.5

LS MR 58433 8.1 76,328 79 278

1. 513 29, SR AE 55424 1.6 54,785 6.1 A2

5.2 WE 21,216 29 31146 34 468

6 ME M= 210464 20.0 184.171 2004 AlL2S

7. HBEER 9.682 1.3 171,085 18.9 1.667

8 H|2aR 88,228 121 91.710 1.1 39

9 7|H= 31819 1.3 83.489 9.5 45

10. 2| E} 81,696 1.2 168,602 75 106.4

B3| 726,675 100.0+ 404.602 100.0 245
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5. Hite| =W - W
(che: H g2, %)

PE(HS 2[E) 1996 19974 =218
2Y T4 29 T4y
LA HE 181,362 14.5 261,429 205 44.1
2.xM A RE 51,810 42 57.871 45 1.7
LIS MME 240,430 19.2 286,626 225 192
4. 818 2ol W E 70,416 56 96,901 76 376
5. BolAE HE 68,362 5.5 56,630 4.5 2172
6. 8% HZ 151,670 12.1 125972 9.9 A169
7. 2|08 144,429 116 147,187 L6 1.9
8. Ak 117.213 9.4 50,089 7.1 A28
9. 7|Et 223,924 17.9 149,550 1.8 A332
A 1,249,616 160.0 1,272,253 100.0 1.8
6. Hate| =i TP WX
(Chg: ot &)
Te £9914 199214 99314 199414 199514 199612 19974
= 30 62 74 305 15.3 547 6.7
Al2iot - - - - - 14 3.4
B = 9 2 7.8 5.2 16.2 3 38
FLict 35 8 16 - - - -
o= R N - - 37 13.2
EU . - - - - - 11.5
7|€} 55 1l 145 £3.3 277 20.1 576
A 129 83 109.3 49 96.2 105 163

F: JiEtolle 7|6E 22k 3 = 7|7 E BR 38 XY =@
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7. Boi0) Z= 2 4o HY

(o E.8 ghey
9 E 2 A0} B
TE
Tk =29 Tt Bk =2 =
1993 1,680 336 30.575 6,515 34,255 0.851
1994 18,465 1693 21,705 4341 40,170 8034
1995 4,555 911 19,555 7,991 44.110 8902
1996 19,947 3834 20,470 4094 40417 7.92%
1997 178.336 31880 0.570 1,314 184.506 33,194
S AR S 48 £ 7= HE
8. SFe| af gl AlF
chel ol £
T (0G4 169214 199314 199414 199514 199644 199744
E2 110 110 105 83 102 936 506
2|d|o} - 20 10 8 8 } B
ofj o) - - - - - 60
oJ2k 75 22 21 - R
2iAlo) 4 - - . - - .
EHAt 189 152 136 Yl 110 93.6 110.6
AE: KOTRA.

98 muzA 199%.6




